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E(\E—i—x +5)

(1) S-+2x @ ——+2
2x ) 2\/; .

(3) LJr2x+1 (4) —=+2x

2Jx Jx
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x\ x

(1) —i,,+3x2 2 Ly
2 x

3) _ijerz (4) Zero
2

d s

dr(x )

(1) gx ) %-’CM
5

ORENE @ sV

d . :

d—(sm30°) is equal to

24

(1) cos 30° (2) cosec 30°

3) 0 (4) sin30°

If y = 4x” — 2x + 4 then find 2—1
X

(2) 8x-2
(4) 4x+4

(1) 8x—2x
(3) 8x—2+4
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Differentiation

2 dy
If y=x + 4x° — 8x + 4, then find d—1
X

(2) 2x+12x>—8
(4) 2x+12x%—x

(1) 2x+4x*—x
(3) 2x+4x° -8

%(wﬁJr%] is equal to:

@) 1+_17_ @) —1+ij
X~ %2
1

(3) 1_—.) (4) x -1
2

y=(1-x%)'° then find d—1
dx
(1) ].0(1 _x2)9, (2) 10(1 _x2)9 xE

(3) —20x (1 -«

If y = (2 —x%)*, then find il
dx

(1) 42 -5 % (2%) (2) 42—}
(B) 42-x)x2x (@) -8x(2-x%)’°

y= (x + 3)" then find il
dx

1 1
1 2
M 2Jx+3 @ 4/x+3
3) ! (4) None of these

2x—8

(4) Not differentiable



